
Tir à la Cible avec une Boule de Neige (F)
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

128
× 5

1295
÷ 5

607
× 7

938
− 660

1600
− 832

939
− 545

4775
÷ 5

308
+ 239

728
× 7

553
+ 211

547 640 394 955 5096 278 259 4249 764 768
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Tir à la Cible avec une Boule de Neige (F) Réponses
Nom: Date:

Lancez chaque boule de neige à la cible correcte.

128
× 5

1295
÷ 5

607
× 7

938
− 660

1600
− 832

939
− 545

4775
÷ 5

308
+ 239

728
× 7

553
+ 211

547 640 394 955 5096 278 259 4249 764 768
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